
　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

حساب الأس الصحيح

3 − 5 =2 3 + (−9) =2

3 + (−4) = 10 + (−10) =0

9 − (−9) = 1 − (−4) =2

7 − (−7) =2 7 − (−3) =3

2 − 10 =2 (−5) − 4 =2

8 − (−6) =2 3 − 10 =2

(−7) − (−7) = (−8) + 2 =0

(−8) + 5 =2 (−9) + 1 =

(−4) + 2 =3 (−5) + (−7) =

2 − 3 =3 (−10) + (−7) =2
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　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

حساب الأس الصحيح

3 − 5 = 42 3 + (−9) = 02

3 + (−4) = (−1) 10 + (−10) = (−9)0

9 − (−9) = 18 1 − (−4) = 52

7 − (−7) = 562 7 − (−3) = 3463

2 − 10 = (−6)2 (−5) − 4 = 212

8 − (−6) = 702 3 − 10 = (−1)2

(−7) − (−7) = 0 (−8) + 2 = 30

(−8) + 5 = 692 (−9) + 1 = (−8)

(−4) + 2 = (−62)3 (−5) + (−7) = (−12)

2 − 3 = 53 (−10) + (−7) = 932
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